



Harbor Soaring Society P.O. Box 1673 Costa Mesa, CA 92628

Hamblia Madalahahahahahila M



Society Column

President:	George Joy	556-6385
Vice Pres:	Felix Vivas	645-3263
Secretary:	Dave Nemecek	839-4317
Treasurer:	Chris Hurley	733-1007
Contest Dir:	Dieter Lamprecht	968-8430
General Dir:	Bob Sliff	895-1203
Editor:	Pete Richardson	557-4782

"Oldest Chartered Soaring Club In AMA" Charter # 28

December 1988

Volume 25

Number 12

DECEMBER CLUB MEETING

The December club meeting will be held on Wednesday, December 7th, at 7:30 pm at the Consolidated Water, District Office, 1965 Placentia Ave., Costa Mesa. The December contest will be held on Sunday December 11th. George Joy will be the Contest Director. Come to the meeting for details.

JANUARY CLUB MEETING

The January club meeting will be held on Wednesday, January 4th, at 7:30 pm at the Consolidated Water District Office, 1965 Placentia Ave., Costa Mesa. The awards for the overall 1988 contest standings will be presented.

Meeting Minutes, Oct 1988 -

The meeting was brought to order by V. P. Felix Vivas, at 7:40 pm on Nov 5,1988, at our usual meeting place in Costa Mesa. The president, George Joy was late arriving at the meeting. The meeting minutes for the Oct 1988 meeting were approved and voted into the record by the club members in attendance. The treasure report was provided by Chris Hurly, and voted upon and approved.

New face:

Norm "The Enforcer" Hatch was introduced to the club. This was his first meeting, although he has been flying at the field for several months.

Old business:

V. P. Felix Vivas stated that He will have a Vietnan combat film for the Dec 1988 club meeting.

Frank Chastler announced the SC2 results. The HSS club won team honors. This puts the HSS team on top for this year.

Tentative plans for the Lee Renaud Memorial contest will be held in April or May 1989.

It was announced that wench and retriever batteries are available from John Amies. Dick Panzer will pick-up some of them for the club contest.

New Business:

Will Conrad stated that there was no new info on the status of the new flying site location.

Dieter Lamprecht will be the Contest Director for the Club contest in Nov. He will be setting-in for John Lupperger, who has been sick: get well soon John.All rounds will be 3, 5 or 7 minute flights - pilots choice. The landings will be different, be there to find out the fun part of the contest.

The SC2 contest will be held in Nov. hosted by the ISS club in Riverside.

Elections for next years club officiers were held. Check other parts of this newsletter to find out the results.

The meeting closed at 8:40 PM. The annual swapmeet was held.

FROM THE PRESIDENT

Well suys and sals, it hardly seems like the end of the year, but it is, time sure flies when your having fun, and so do we.

I would like to thank everyone for making this a successful year. I enjoyed the position and the amount of work involved. I was a bit taken by the number of things that had to be handled as president, but having a group of professionals we've had this year made the job easy and enjoyable. I know that everything that everyone wanted done, didn't get done, and I let a few things fall through the cracks, but someone was always there to let me know about it. Asain, THANKS to all of you.

Now I would like to constatulate our slate of officers for next years hard work and continuing growth. I believe that they will do an outstanding job.

The officers for next year are:

PRESIDENT: VICE PRESIDENT: SECRETARY: TREASURER: EDITOR: CONTEST COORDINATOR: GENERAL DIRECTOR:

CHRIS HURLEY
RODGER LOWERY
JARED STALLS
FRANK CHASTLER
GOB SLIFF
GEORGE JOY
ROSS THOMAS

Don't forset your annual dues are less expensive if you renew on or before the January meeting.

I'm looking forward to another good year for the Harbor Soaring Society.

RESPECTFULLY

GEORGE J. JOY PRESIDENT 1988

SOUTHERN CALIFORNIA SOARING CLUBS RESULTS OF PSA (SC)2 CONTEST OF 10/30/88 CONTEST DIRECTOR - LARRY JOLLY

PLACE	NAME		CLUB	CLASS	SCORE	NORMAL	TROPHY
1	TILLMAN, NORM		NCC	EXFERT	2970.2		E - 1
	LUPPERGER, JOHN		HSS	EXPERT	2942.9	990.8	E = 2.
	BILLMAN, TODD		ISS	EXPERT	2923.5	984.3	E = 3
4	HARRIS, PHIL			EXPERT	2918.7	982.7	E - 4
5	SPENCER, RANDY		SULA	EXPERT	2917.0	982.1	E - 5
6	EDBERG, DON		FSS	EXPERT	2910.8	980.0	
7	FORREY, BILL		PSA	EXPERT	2876.2	968.4	
8	BONANNO, TONY		SULA	SPORTSMAN	2824.5	950.9	S - 1
9	DOUGLAS, IAN		ISS	EXPERT	2786.2	938.1	
10	ADDIS, STEVE		SULA	EXPERT	2749.4	925.7	
11	OLDENBURG, ED		rosa	EXPERT	2716.8	914.7	
12	SMITH, MIKE		NCC		2683.3	903.4	
13	GARNER, RICH		HSS	EXPERT	2682.3	903.1	
14	DURHAM, JACK			EXPERT		875.4	
15	JOLLY, LARRY		PSA	EXPERT		892.3	
16	HENDRY, STEVE		HSS	SPORTSMAN	2650.2	892.3	S - 2
17	CHASTELER, FRANK		HSS	EXPERT	2643.5	890.0	. •
18	BRATRUD, RANDY		PSA	EXPERT		884.5	
19	MEIENBERG, KEN		SULA	EXPERT	2624.9	883.7	
20	SIREN, JAY		PSS	EXPERT	2612.9	879.7	
20 21	HURLEY, CHRIS		HSS	SPORTSMAN	2612.3	879.5	ន – 3
	PANTZAR, DICK		HSS	EXPERT	2601.2	875.8	
22	POULSON, GORDON		HSS	EXPERT	2583.7	869.9	
23 24	HENDRICKSON, ERIC		TOSS	SPORTSMAN	2571.1	865.6	
	MARTIN, TONY		HSS			857.4	
25 27	SANDRONI, HUGO		SHIA	SPORTSMAN	2545.4	857.0	
26			T055	SPORTSMAN	2527.9	851.1	
27	MCNAMEE, DON		SULA	EXFERT			
28	AKER, IRV	•	SULA		2521.9		
29	VICKERS, DON		HSS			841.8	
30	JOY, GEORGE		HSS	SPORTSMAN		826.4	
31			HSS	EXPERT	2454.4	826.3	
32		Den		SPORTSMAN	2426.0	814.8	
33	MILLER, JIM	PSA	HSS	EXPERT	2419.2	814.5	
34	RICHARDSON, PETE		SULA	SPORTSMAN			•
35	BERUBE, MARK				2334.3		
36	THOMAS, ROSS		HSS	EXPERT SPORTSMAN			
37	RATNER, MIKE		PSS USC		2296.4		
38	CHASTELER, TOM		HSS	EXPERT SPORTSMAN	2270.4		
39	MCNAMEE, ART		TOSS	SPORTSMAN	2222	760.7	
4Q	STALLS, JARED		H35	SEUNTSTHA	22/0.7	740.7	• • •
41	ONSTAD, BOB		TOSS	SPORTSMAN	22U7:0	757.8	
42	HUSMANN, CHRIS		SULA	SPORTSMAN	2230.7	742.1	
43	STOKER, PAT		SULA	EXPERT			
44	STAFFORD, IRV		NCC	SPORTSMAN	2201.7	741.0	
45	MEREDITH, WAYNE			SPORTSMAN	2167.9	729.9	
46	DANRICH, DAN			SPORTSMAN		723.0	
47	GOLDSMITH, BOB			SPORTSMAN	2066.8		
48	MORAN, MYLES			EXPERT	19/9.2	666.4 664.3	
49	•		FSS		19/3.2	447.8	
- 50	DOIG, AL	٠	NCC .	EXPERT	1330.0	44/.8	
7 2 T 51	BRANDT, DENNIS	-	PSA :	EXPERT		222.5	

SOUTHERN CALIFORNIA SOARING CLUBS Annual Standings

1 TILLMAN, N	975.3 964.8 954.1 948.3 947.2 941.4 936.3 921.6 914.7 903.3 895.4 890.2 877.9 887.9 869.6
2 SMITH, M	966.3 964.8 956.1 948.3 947.2 941.4 936.3 921.6 914.7 904.8 902.3 894.4 897.2 877.9 877.9 877.6 831.6
### BILLMAN, T	956.1 948.4 948.3 947.2 941.4 936.3 921.6 914.7 903.3 895.4 896.3 877.9 887.9 869.6
## MEIENBERG, K	948.4 948.3 947.2 941.4 936.3 921.6 914.7 903.3 895.4 890.3 897.4 897.9 887.9 869.6
S CHASTELER, F EXPERT HSS 3793.4 4 6 GARNER, R EXPERT HSS 3793.2 4 7 SPENCER, R EXPERT SULA 3788.7 4 8 BRANDT, D EXPERT PSA 3765.7 4 9 OLDENBURG, E EXPERT TOSS 3745.3 4 10 RICHARDSON, P EXPERT HSS 3686.5 4 11 DOUGLAS, I EXPERT HSS 3658.9 4 12 CHASTELER, T EXPERT HSS 3619.0 4 13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT SULA 3614.4 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3677.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT HSS 3517.6 4 19 JOY, G EXPERT HSS 3514.5 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN HSS 3511.6 4 22 HENDRICKSON, E SPORTSMAN NCC 3478.6 4 23 AKER, I EXPERT HSS 3308.5 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT HSS 3110.2 4 26 STOKER, P EXPERT HSS 3191.2 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3191.2 4 20 ONSTAD, B SPORTSMAN HSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3175.0 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5	948.3 947.2 941.4 936.3 921.6 914.7 904.8 902.3 895.4 894.7 887.2 877.9 869.6 831.6
6 GARNER, R 7 SPENCER, R 8 BRANDT, D 9 OLDENBURG, E 10 RICHARDSON, P 11 DOUGLAS, I 12 CHASTELER, T 13 VICKERS, D 14 SIREN, J 15 ADDIS, S 16 SLIFF, B 16 MORAN, M 17 BONANNO, T 18 MORAN, M 19 JOY, G 19 HURLEY, C 20 HURLEY, C 21 BATES, J 22 HENDRICKSON, E 25 FORTSMAN 26 STOKER, P 27 RATNER, M 28 FANTZAR, D 29 HARRIS, P 30 KASTELLAR 3783.7 4 4 5 SPORTSMAN 4 5 STOKER, P 27 RATNER, M 28 PORTSMAN 3763.7 4 5 SPORTSMAN 4 5 SPORTSMAN 5 STOKER 5 STOKER 6 SPORTSMAN 5 STOKER 7 SULA 7 STOKER 7 STOKER 7 SULA 7 STOKER 7 SULA 7 STOKER 7 SULA 7 STOKER 7 STOKER 7 SULA 7 STOKER 7	947.2 941.4 936.3 921.6 914.7 904.8 903.6 902.3 895.4 894.4 890.7 887.2 878.6 877.9 869.6
7 SPENCER, R EXPERT SULA 3788.7 4 8 BRANDT, D EXPERT PSA 3765.7 4 9 OLDENBURG, E EXPERT TOSS 3745.3 4 10 RICHARDSON, P EXPERT HSS 3686.5 4 11 DOUGLAS, I EXPERT HSS 3698.9 4 12 CHASTELER, T EXPERT HSS 3619.0 4 13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT PSS 3609.3 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT HSS 3514.5 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN HSS 3326.6 4 24 THOMAS, R EXPERT HSS 3326.6 4 25 AKER, I EXPERT HSS 3310.2 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN HSS 3140.9 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2785.7 3 33 MATSUMOTO, B EXPERT HSS 2785.7 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	941.4 936.3 921.6 914.7 904.8 903.6 902.3 895.4 890.7 887.2 877.9 869.6 831.6
B BRANDT, D EXPERT PSA 3765.7 4 9 OLDENBURG, E EXPERT TOSS 3745.3 4 10 RICHARDSON, P EXPERT HSS 3686.5 4 11 DGUGLAS, I EXPERT ISS 3658.9 4 12 CHASTELER, T EXPERT HSS 3619.0 4 13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT SULA 3614.4 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT TOSS 3548.8 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN NCC 3478.6 4 23 DURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3325.1 4 25 AKER, I EXPERT HSS 3310.2 4 26 STOKER, P EXPERT SULA 3308.5 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 21 HENDRY, S SPORTSMAN HSS 3140.9 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 34 DOIG, A EXPERT PSS 2782.4 3 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	936.3 921.6 914.7 904.8 903.6 902.3 895.4 894.4 890.7 887.2 877.9 869.6 831.6
9 OLDENBURG, E EXPERT TOSS 3745.3 - 4 10 RICHARDSON, P EXPERT HSS 3686.5 - 4 11 DOUGLAS, I EXPERT ISS 3658.9 - 4 12 CHASTELER, T EXPERT HSS 3619.0 - 4 13 VICKERS, D EXPERT SULA 3614.4 - 4 14 SIREN, J EXPERT SULA 3581.7 - 4 15 ADDIS, S EXPERT SULA 3581.7 - 4 16 SLIFF, B EXPERT HSS 3577.6 - 4 17 BONANNO, T SPORTSMAN SULA 3562.7 - 4 18 MORAN, M EXPERT TOSS 3548.8 - 4 19 JOY, G EXPERT HSS 3514.5 - 4 20 HURLEY, C SPORTSMAN HSS 3511.6 - 4 21 BATES, J SPORTSMAN HSS 3511.6 - 4 22 HENDRICKSON, E SPORTSMAN HSS 3326.6 - 4 23 DURHAM, J EXPERT HSS 3325.1 - 4 24 THOMAS, R EXPERT HSS 3325.1 - 4 25 AKER, I EXPERT HSS 3310.2 - 4 25 AKER, I EXPERT SULA 3308.5 - 4 26 STOKER, P EXPERT HSS 3191.2 - 4 27 RATNER, M SPORTSMAN PSS 3222.0 - 4 28 PANTZAR, D EXPERT HSS 3191.2 - 4 29 HARRIS, P EXPERT HSS 3191.2 - 4 30 ONSTAD, B SPORTSMAN HSS 3140.9 - 4 31 HENDRY, S SPORTSMAN HSS 3140.9 - 4 32 LUPPERGER, J EXPERT HSS 2985.7 - 3 33 MATSUMOTO, B EXPERT HSS 2985.7 - 3 34 DOIG, A EXPERT NCC 2770.5 - 4 35 GRISWOLD, C EXPERT NCC 2770.5 - 4	921.6 914.7 904.8 903.6 902.3 895.4 894.4 890.7 887.2 877.9 869.6 831.6
10 RICHARDSON, P EXPERT HSS 3686.5 4 11 DOUGLAS, I EXPERT ISS 3658.9 4 12 CHASTELER, T EXPERT HSS 3619.0 4 13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT PSS 3609.3 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT HSS 3577.6 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN NCC 3478.6 4 23 DURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3191.2 4 20 ONSTAD, B SPORTSMAN HSS 3140.9 4 30 ONSTAD, B SPORTSMAN HSS 3140.9 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT PSS 2782.4 3 35 GRISWOLD, C EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	914.7 904.8 903.6 902.3 895.4 894.4 890.7 887.2 877.9 869.6 831.6
11 DOUGLAS, I EXPERT ISS 3658.9 4 12 CHASTELER, T EXPERT HSS 3619.0 4 13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT PSS 3609.3 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT TOSS 3548.8 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 21 BATES, J SPORTSMAN TOSS 3326.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 DURHAM, J EXPERT HSS 3310.2 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3308.5 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	904.8 903.6 902.3 895.4 894.4 890.7 887.2 878.6 877.9 869.6
12 CHASTELER, T EXPERT HSS 3619.0 4 13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT PSS 3609.3 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT TOSS 3548.8 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 21 BATES, J SPORTSMAN TOSS 3326.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 DURHAM, J EXPERT HSS 3310.2 4 24 THOMAS, R EXPERT HSS 3308.5 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 21 HENDRY, S SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 34 DOIG, A EXPERT PSS 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	903.6 902.3 895.4 894.4 890.7 887.2 878.6 877.9 869.6
13 VICKERS, D EXPERT SULA 3614.4 4 14 SIREN, J EXPERT PSS 3609.3 4 15 ADDIS, S EXPERT SULA 3581.7 4 16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT TOSS 3548.8 4 19 JOY, G EXPERT HSS 3511.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 DURHAM, J EXPERT HSS 3310.2 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 31,75.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2782.4 3 33 MATSUMOTO, B EXPERT HSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	902.3 895.4 894.4 890.7 887.2 878.6 877.9 869.6
15 ADDIS, S	895.4 894.4 890.7 887.2 878.6 877.9 869.6
16 SLIFF, B EXPERT HSS 3577.6 4 17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT TOSS 3548.8 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 JURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN HSS 3140.9 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	894.4 890.7 887.2 878.6 877.9 869.6 831.6
17 BONANNO, T SPORTSMAN SULA 3562.7 4 18 MORAN, M EXPERT TOSS 3548.8 4 19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT HSS 3310.2 4 26 STOKER, P EXPERT SULA 3308.5 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3191.2 4 29 HARRIS, P EXPERT HSS 3191.2 4 30 ONSTAD, B SPORTSMAN TOSS 31,75.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT HSS 2985.7 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT NCC 2770.5 4	890.7 887.2 878.6 877.9 869.6 831.6
18 MORAN, M	887.2 878.6 877.9 869.6 831.6
19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 DURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	878.6 877.9 869.6 831.6
19 JOY, G EXPERT HSS 3514.5 4 20 HURLEY, C SPORTSMAN HSS 3511.6 4 21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 DURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	877.9 869.6 831.6
21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 3 DURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	869.6 831.6
21 BATES, J SPORTSMAN NCC 3478.6 4 22 HENDRICKSON, E SPORTSMAN TOSS 3326.6 4 23 DURHAM, J EXPERT HSS 3325.1 4 24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	831.6
## PROBLEMSON, E SPORTSMAN TOSS 3326.6 4 ## DURHAM, J EXPERT HSS 3325.1 4 ## THOMAS, R EXPERT HSS 3310.2 4 ## EXPERT SULA 3308.5 4 ## EXPERT SULA 3292.4 4 ## PANTZAR, P EXPERT HSS 3191.2 4 ## PANTZAR, D EXPERT HSS 3191.2 4 ## PARRIS, P EXPERT HSS 3188.6 4 ## ONSTAD, B SPORTSMAN TOSS 3175.0 4 ## BOOKSTAD, B SPORTSMAN HSS 3140.9 4 ## EXPERT HSS 2985.7 3 ## MATSUMOTO, B EXPERT PSS 2782.4 3 ## DOIG, A EXPERT NCC 2770.5 4 ## BOOKSTAD, C EXPERT TOSS 2656.5 3	
24 THOMAS, R EXPERT HSS 3310.2 4 25 AKER, I EXPERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	And 4-2 1 274
25 AKER, I EXFERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	831.3
25 AKER, I EXFERT SULA 3308.5 4 26 STOKER, P EXPERT SULA 3292.4 4 27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	827.5
27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	827.1
27 RATNER, M SPORTSMAN PSS 3222.0 4 28 PANTZAR, D EXPERT HSS 3191.2 4) 29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	823.1
29 HARRIS, P EXPERT HSS 3188.6 4 30 ONSTAD, B SPORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	805.5.
30 ONSTAD, B SFORTSMAN TOSS 3175.0 4 31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	797.8
31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	797.1
31 HENDRY, S SPORTSMAN HSS 3140.9 4 32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	793.8
32 LUPPERGER, J EXPERT HSS 2985.7 3 33 MATSUMOTO, B EXPERT PSS 2782.4 3 34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	7 85. 2
34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	995.2
34 DOIG, A EXPERT NCC 2770.5 4 35 GRISWOLD, C EXPERT TOSS 2656.5 3	927.5
	692.6
36 FINK, D EXPERT SULA 2649.4 3 37 LOWERY, R SPORTSMAN HSS 2562.1 3	885.5
37 LOWERY, R ` SPORTSMAN HSS 2562.1 3	883.1
•	854.0
38 STAFFORD, I / SPORTSMAN NCC. 2542.8 3	847.6
39 POULSON, G EXPERT HSS 2402.9 4	600.7
40 STALLS, J SPORTSMAN HSS 2392.8 3	797.6
41 KEIL, D SPORTSMAN NCC 2383.4 3	794.5
42 McNAMEE, A SPORTSMAN TOSS 2339.2 3 43 SMITH, J EXPERT PSS 2089.5 3	779.7
	696.5
44 KINDRÍCK, K EXPERT PSS 1982.4 2 45 REA, S EXPERT PSS 1923.8 2 46 CRON. A SPORTSMAN HSS 1901.3 3	991.2
45 REA, S EXPERT PSS 1923.8 2	961.9
	633.8
7 LUEKEN, J EXPERT NCC 1871.4 2	935.7
7 LUEKEN, J EXFERT NCC 1871.4 2 3 RAYMOND, K EXPERT NCC 1850.9 2 49 BURNS, R EXPERT PSS 1813.3 2 50 ROBERTS. G EXPERT PSS 1707.7 2	925.5
3 RAYMOND, K	906.6
	853.9
51 McNAMEE, D SPORTSMAN -TGSS 1681.1 2 52 STARK, T EXPERT PSS 1675.0 2	_840.5-
52 STARK, T EXPERT - PSS 1675.0 1 2	837.5
53 MEREDITH, W SPORTSMAN TOSS 1641.1 2	820.5
54 CONRAD, W SPORTSMAN HSS 1600.5 2	800.3

SOUTHERN CALIFORNIA SOARING CLUBS Annual Standings

Hara Maria

	Name	Status	C1 ub	Score	Contests	Average'
	LITTO TO	EXPERT	PSA	1564.8	2	782.4
55	NIGG, D	EXPERT	NCC -	1550.2		775.1
56	HUNTER, J FINKENBINER, K	EXPERT	NCC	1548.0	2	774.0
57	•	SPORTSMAN	SULA	1545.6	2 2 2 2	772.8
58	SANDRONI, H	SPORTSMAN	ISS	1439.1	~ ?	719.5
59	BITZBERGER, J	SPORTSMAN	SULA .	1412.2	÷-	.706.1
60 1	BERUBE, M NEWLOVE, J	SPORTSMAN	NCC	1383.2	2 2	671.6
61	•	SPORTSMAN	HSS	1161.4	2 .	580.7
62 7	LASATER, J BUTKOVICH, D	SPORTSMAN	PSS	1137.8	2	568.9
6 3	GOLDSMITH, B	SPORTSMAN	TOSS	1071.9	2	536.0
64 65	MARSHALL, R	SPORTSMAN	PSS	1041.7	2 ,	520.9
	KINDRICK, A	EXPERT	PSS	990.0	i	990.0
దద ద7	LEPPLA, F	EXPERT	PSS	987.4	1	987.4
68 68	EDBERG, D	EXPERT	PSS	980.0	i ·	980.0
69	BERON-RAWDON, B	EXPERT	SULA	977.3	i	977.3
	MILOVIC, N	EXPERT	PSS	976.7	1	976.7
	FORREY, B	EXPERT	PSA	968.4	1	968.4
71 72	NORTHERN, D	SPORTSMAN	TOSS	962.5	1	962.5
72 73	COL. THACKER,	EXPERT	NONE	962.2	1	962.2
7.3 74	DOXTADER, L	EXPERT	NCC	958.5	1	/ 958.5
75	CLARK, D	SPORTSMAN	NCC	957.7	1,	957.7
76	FOXGORD, C	EXPERT	PSS	957.2	î	957.2
70 77	WARNER, G	SPORTSMAN	NCC	950.9	1	950.9
78	WAGNER, H	EXPERT	NCC	947.6	1	947.6
7日 79	GILMAN, R	EXPERT	NCC	945.8	ī	946.8
80	MEININEER, F	EXPERT	PSS	922.7	1.	922.7
81	CHASTAIN, B	SPORTSMAN	PSS	915.1	. 1	915.1
82	BIDDLE, F	SPORTSMAN	HSS	899.6	1	899.6
83	JOLLY, L	EXPERT	PSA	892.3	1	892.3
84	ATWELL, B	SPORTSMAN	SULA	887.4	1	889.4
85	SWAIN, D	SPORTSMAN	TOSS	886.8	1	884.8
86	BRATRUD, R	EXPERT	PSA	884.5	1	884.5
87	LINDGREN, R		TOSS	884.3	- 1	884.3
88	FEDELLECK, J	EXPERT	SULA	882.9	1	882.9
89	•	EXPERT	NCC	861.1	1	861.1
90	MARTIN, T	EXPERT	HSS	857.6	1	857.4
91	WHITE, L	SPORTSMAN	NONE	854.3	1	854.3
92		SPORTSMAN		852.3	1	852.3
93	LAMPRECHT, D	SPORTSMAN	HSS	851.8	1	851.8
94	SHORT, H	EXPERT	SULA	851.6	1	851.6
95	KUTCH, N	SPORTSMAN	HSS	824.5	1	824.5
76 96	MILLER, J	SPORTSMAN	NONE	816.8	1	816.8
96		SPORTSMAN	HSS	814.8	1.	816.8
98	STEVENS, J	EXPERT	SULA	814.6	1	814.6
99	STOWERS, R	EXPERT	SULA	810.9	1	810.9
100		SPORTSMAN	HSS	808.1	1	808.1
101		EXPERT	SULA	807.9	1	807.9
102		SPORTSMAN	NONE	789.0	1,	789.0
103	NEMECEK. D	SPORTSMAN	HSS	774.4	<u> </u>	774.4
104	RITSCHKÉ. G	SPORTSMAN	HSS ·	768.9	1	768.9
	CLIFTON, G	SPORTSMAN	ISS	767.5		767.5
106	-HUSMANN, C	SPORTSMAN SPORTSMAN	-SULA	757.8	1	757.8
107	DEPUE, E	EXPERT	HSS	745.1	1	745.1
108	MCNEE, R	SPORTSMAN	NCC	732.2	1	732.2
7 ~ ~	, , ,	· ·				

SOUTHERN CALIFORNIA SOARING CLUBS RESULTS OF PSA (SC)2 CONTEST OF 10/30/88 TEAM SCORES

HSS 17	SULA 10	TOSS 8	PSS 4	NCC 4	PSA 5%	ISS 2
990.8 982.7 903.1 895.4	982.1 950.9 925.7 883.7	914.7 865.6 851.1 768.9	980.0 879.7 783.8 664.3	1000.0 903.4 741.3 447.8	968.4 892.3 886.5 2/6.8	984.3 938.1
3772.0	3742.4	3400.3	3307.8	3092.5	35 64.0	1922.4

SOUTHERN CALIFORNIA SOARING CLUBS Annual Standings

	Name	Status	C1 ub	Score	Contests	Average
109	DANRICH, D	SPORTSMAN	NONE	723.0	1 .	723.0
110	JENKINS, H	SPORTSMAN	ISS	698.7	2 .	349.4
111	JONES, D	SPORTSMAN	SULA	647.9	1	647.9
<u>~2</u>	GEORGÉ, C	SPORTSMAN	HSS	594.9	1 .	594.9
'. ₂ 3	LANDRETH, D	SPORTSMAN	ISS	592.0	1	592.0
114	WEINTRAUB, L	SFORTSMAN	ross	574.8	1	574.8
115	HODGES, F	SPORTSMAN	NCC	562.3	1 .	562.3
116	GLASS, R	SPORTSMAN	PSS	436.2	1	436.2
117	KOSTOPLOS, G	SPORTSMAN	PSS	390.2	i	390.2
118	FRYE, J	SPORTSMAN	HSS	347.2	1	347.2
119	HAMERSVELD, V	SPORTSMAN	TOSS	327.3	1	327.3
120	MORTON, J	SPORTSMAN	PSS	.13.3	1	13.3

TEAM STANDINGS

H 5.5 22,700.2

SULA 22,249.2

NCC 18,732.5

TOSS 17,069.0

PSS 14,592.8

155 12,001.5

PSA 8,894.5

HSS NOVEMBER CONTEST RESULTS

		OFFI CLAS	\$		
POSITION	NAME	CLASS	SCORE	NOTOTALIZED	TROPHY WON
! :	TONY HARTIN		2031,0	1000.0	IST-EXPECT
2	RICH GARNER	. E.	2878.0	981,9	2NO-EXPERT
3	HORRY SHITH	E	2845,0	970,7	3PO-EXPERT
4	-DAN FINK	E	2761,0	948,6	,
5	KEN MEIENBERG	E	2778.0	947,8	
0	JACK DURHAM	E	2757,0	940.6	
7	AL CRON	. A	2752.0	930.9	1ST-ADVANCED
8	CHRIS HURLEY	E	2720.0	920.0	
9	ROSS THOMAS	΄: ξ	2711,0	924.9	
10	PHIL HARRIS	- E	2704,0	922.6	
11	PETE RICHARDSON	E	2691.0	910.1	
12	JARED STALLS	- 🛦	2609.0	917.4	2ND-ADVANCED
13	HERMAN HALL		2668.0	910.3	
	ROOGER LOWERY		2605.0	680.5	
15	reason in the reason of the reason of	٨	2587.0	882.6	
16			2578.0	879.6	1ST-SPORTSMAN
17	DAVE NEMECEK		2522.0	060.5	
16	STEVE HENDRY	: 5	2513.0	ú57,4	2ND-SPORTSMAN
19	GORDON RITSCHKE		2505.0	054.7	
20		Ē	2446.0	834.5	
21	GEORGE JOY		2439.0	832.1	
22	DICK PANTZER		2419.0	625.3	
23	*** ****** *** *** *** *** ***	Ĕ	2353.0	803.5	
24	WILL STOVALL		2345.0	1,008	
25	LARRY WHITE		1903.0	649.3	
26	HARK DEE		1446.0	493.3	
27	NORM KUTCH		1341.0	457.5	•••••••••••••••••••••••••••••••••••••••
	:				
		2 - METER CL	ASS	• • • • • • • • • • • • • • • • • • • •	**************
POSITION	NAME		SCORE	NORMALIZED	TROPHY WON
1	HERMAN HALL		2749.0	1000.0	1ST-2 METER
?	GORDON POULSEN		2747.0	999.3	2ND-2 METER
<u>Ş</u>			2710.0	985.6	3RD-2 METER
4	44		2702.0	982,9	
5	**************************************		2693.0	979.6	
6				924.3	
7	lottered test		2540.0	924.0	
	DIETER LAMPRECHT	•••••	2461.0	895,2	
9			2439.0	887.2	
10				B39.6	
				775.2	
12	*** * * * * * * * * * * * * * * * * *		1709.0	650.8	
13		:	1758.0	639.5	
13	JIM FRYE		746.0	271.4	
	ON FRIE			111.4	

	· · · · · · · · · · · · · · · · · · ·	OWLI CLAC					
·	.i	ODEN CLYSS	TOP 8	TOP 8		CONTESTS	NORT
PLACE	NAME	CLASS	TOTAL	NOR11	TOTAL	FLOWN	A \
	DENNIS BRANDT		7991.0	999.0	7,991.0		. 995
. 2	JOHN LUPPERGER	E.	7,772,5	971.6	7772,5	8	971.6
3,	JACK DURHAM	i t 1	7743,8	968,0	9671.7		879,2
4	PETE RICHARDSON		7575,2	946,9	6360,9	<u>.i.</u> 9	929.0
5	DIETER LAMPRECHT	. i	7415,1	926.9	9,03,6		910,4
6	CHRIS HURLEY	ŧ	7369.8	921.2	9860.2		897,1
	GEORGE JOY		7360.2	920,0	9876,9		597.9
8	GORDON RITSCHKE		7355.3	919,4	9911.4	7 JU 3	901.0
9	PHIL HARRIS	. i. E . i	7354,7	919.3	7947.5	9	883.1
10	HORRY SMITH	.	7297.5	912.2	0190.6		019.1
ii.	DANIEL FINK	E :	7295.5	911,9	7072.5	9	674.7
12	ROSS THOMAS		7168.7	898.6	9270.9	н	642.0
12			6962.0	870,3	7929.1	10	792.9
	RODGER LOWERY		6913.3	864.2	8337.3	10	833.7
15	AL CRON	Α :	6879.0	859.9	7964.3	10	796.4
16	DICK PANTZER	: E	6721.8	840.2	7826.4	10	782.6
t7	TOT PASTORE	Α	6673.9	834,2	7059.2	9	784.4
	KEN MEIENBERG		6400.6		6480.6	7	925.8
19		5	6309,6	798.7	7396.1	10	739.6
	RICH GARNER	Ε ;		768.4	6147,3	. В	768.4
21					5945,4	7	849.3
					5681,5		B11,6
23	LARRY ENGER	Α	5398.8		5398.0	6	099.0
24	JAPEO STALLS	A			5132.0	5	855,3
25	GORDON POULSEN		5098,7		5098.7		720.4
26	TONY LEE		5000.3		5000,3	6	B33.4
27	WILL CONRAD		0.0		4116.2		656.0
28	BILL BRAHAMS	5			3999.7	6	666,6
29	808 SLIFF	: E :			3925.2	. 4	981.3
30	JOEL QUIESENBERRY	A			3466.6	4	666.7
31		Α			3449.1	. 4	052.3
	FRED BIDDLE				3223.9	4	806.0
	CHRIS GEORGE				2499,4		633,1
34	JOHN LASATER	: S :			2403.3	3	801,1
	:NORM KUTCH		.,			3 :	746.7
	WOODY RANDOLPH				2197.6		732.5
	TOM CHASTELER				1685.2	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	942.6
					1034.7		917
30	FRANK CHASTELER	E :			1622.2	2	0.
	MARK DEE	Š			1347,3		67
	T. AUGUSTINE	s			1189.2		594.6
31. 47	JUSTIN SANDERS	Š			826.1	1	B26,1
	KEN NELSON				621.4	. 1	821.4
	WILL STOVALL	Š			800.1	1	600.1
		5			762.2	1 1	762.2
	LARRY WHITE				649.3	. 1	649.3
	KEN WILSON				649.0	1	649.0
	JOHN AMIES		•		571.9	· · · · · · ·	571.9
	JASON JOKES			•	551.5	1	551.5
	Journal noise	· · · · · · · · · · · · · · · · · · ·					

	:		TOPB	TOP 8		CON1	NOOM
PLACE	NAME	CLASS	TOTAL	NORS1	TOTAL		AVERAG
i	DIETER LAMPRECHT		7831.7	979.0	0.0130	10	9.169
. 2	JOHN LUPPERGER	:	7027.2	978.4	7027.2	6	978.4
	ROSS THOMAS				9852.8		895.7
	STEVE HENDRY			914.8			836.
S	GEORGE JOY		7126.3		9148.7		831.7
. 6	JACK DURHAM		7111,3	080.9	6708.9	11	799.0
7	CHRIS HURLEY	· · · · · · · · · · · · · · · · · · ·	6999.0	874.9	9049.0		827.6
	HERMAN HALL			862.3		9	832.0
9	DAN FINK		6334,1	791.8		8	791.0
	JIM FRYE		6031.7	754.0	6031,7	. 6	754.0
	GORDON POULSEN				5855.7		836.
1.7	KEN MEIENDERG		0.0		3651.3	7	607.3
					3190.1		865.0
14	AL CRON			· · · · · · · · · · · · · · · · · · ·	4595.6	7	656.3
	ROOGER LOWERY						808.5
	WILL COHRAD						787
							918,9
18	DENNIS BRANDT				2812.9	3	937.0
	JOEL CUISENBERRY JR.						923.
	CHRIS GEORGE				1963,2		654
		·			1574.5	. 2	7E
22	JOHN LASATER				1347.3	2	67
		.:			982.9	1	982.9
24	KEN NELSON		:::		857.3	1	657.3
25	MARK DEE				799,2	1	799.2
26	WILL STOVALL		:		775.2	1	775.2
	KEN WILSON	:	•••		337.0	1	337.0



Other

Harbor Soaring Society

P.O. Box 1673 Costa Mesa, CA 92628

"The Oldest A.M.A. Sanctioned Soaring Club In The World"

APPLICATION FOR MEMBERSHIP IN HARBOR SOARING SOCIETY FOR 19_ JANUARY to DECEMBER

NAME	PHONE # ()
	WORK # ()
	STATE ZIP
A.M.A. NUMBER	(PROOF OF CURRENT STATUS REQUIRED)
	ars or older) - Renewals prior to January meeting = bers or renewals after January meeting = \$15.00.
JUNIOR MEMBER - 16 yea	rs or younger at time of application = \$6.00.
	for each additional member at same address. application and proof of A.M.A. membership for each name.
New applicants making ap October 31st, pay reduced	plication for senior membership between July 1st and dues of \$10.00.
	plication between November 1st and December 31st will dicated above. Such dues will make the new member g year.
SIGNATURE	DATE
TOTAL DUES OWED AN	D ATTACHED
	FEIGES SPORTUNA ASSULATION
SIGNATURE OF CLUB C	FFICER RECEIVING APPLICATION
	ted below in which you are interested or willing to help:
	ted below in which you are interested or willing to help:
Please check the areas lis	ted below in which you are interested or willing to help:
Please check the areas lis	ted below in which you are interested or willing to help: rector Scoring, Winches, Radio Impound, etc.)
Please check the areas lis Contest Di Contests (ted below in which you are interested or willing to help: rector Scoring, Winches, Radio Impound, etc.) tenance
Please check the areas lis Contest Di Contests (Field Main Public Rei	ted below in which you are interested or willing to help: rector Scoring, Winches, Radio Impound, etc.) tenance

: · • ,